MBF3C: Mathematics of Personal Finance Date:
Day 2: Primary Trig Ratios - Finding Angles Unit 1: Trigonometry

Primary Trigonometry Ratios — Finding Angles

RECALL the three primary trigonometry ratios.
Orp AD oPP
sing = cosé = 2 tan @ =

HY P =N P AT

For every trigonometry ratio there is an _| NnvLr sS€ ratio. It is used to calculate ANGLES.
Inverse ratios are usually found on a Scientific calculator by using the 2"F, INV, or SHIFT key

v - I _l "'l

The inverse for sin is: &1N The inverse for cos is: O3 The inverse for tan is: —ton
Example: Calculate each of the angles given. Round to one decimal place.

e e L
a) sin 8 =0.667 b) cos 8 = 0.667 c) tan 6 = 0.667
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&1 70 pb 2O Coi' (0, p6H) = & toa (.66
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To find the measure of a(n) acy 'te- angle in a right angle triangle, it is Sary fo have
the M EQSUCC  of any Hw  sides of the triangle.

3 Steps to Solving ANGLES
Step 1: Label the sides of your triangle relative to the angle you want to find
Step 2: Determine which trig ratio to use (sin2, cos?, tan?)

Step 3: Set up the equation with the unknown and solve using the inverse trig ratio (sin!, cos™!, or tan').

Example: Find each of the angles shown, rounded to one decimal place.

a) Find ZC b) Find T ¢) Find ZM
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Day 2: Primary Trig Ratios - Finding Angles Unit 1: Trigonometry

Primary Trigonometry Ratios — Angles Practice

1. Evaluate each of the following to the nearest degree.

. = [
a) sina=0.34 b) cosb=0.5 c) tanc=0.466
— ~ ‘:-—3
s.n'(0Y) =O cos'(035)=b tan'(0yb)-C
— | q=20 . =60’ __lezas
d) sin d\:_g). T e) cose\_=_9.574 f) tanf =0.268

s'»'(0.95)=4d c0s5'(9.51y) - \»_> )
- /_)C: ,‘J_a 7

2. Find each of the angles shown. Round to one decimal.

a y¥_ ¢ b «—
) ") ten e;; lo ) A CO:@’:E
8m . g) f;sCm 20 cm - 15
"ton (T'5 :O‘ Co:l(%:?-)__(s_
A 10m
(_\
o) ten 6= ?:I.EZ d o sinG=3
P‘ 13 cm 3 14m 8m “.l
ton (2 )= et

n{anqj’:%g( bol = X
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x= 6 xtonlid 'fonk‘}?_%:f
) | >
60m . IX:L‘}""‘_ .

4. Based on the following diagram use the values given to find the missing angles indicated.

a) a=55m,b=137m > find LA, ZB Diagram is NOT drawn to scale

b) a=235cm, c =268 cm - find LA, ZB b
c) b=21mm,c=40 mm - find LA, ZB

d) a=30cm, b=285cm - find ZA, /B
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d-(-e‘ +<?0-_—l€a
q+9 =95°

L
-tanQT_ ﬁ :) -tqﬁ'( XS
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d+0 =90 a=11
2 +46=90
G =90-1L
!&—_66’"[
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o )= 6+9:‘T0
C 20 B ST l<9=?‘1°i
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4+6 =90



